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RQ� D� ��PLOH� EXIIHU� IURP� H[LVWLQJ� ZDWHU� DQG� VHZHU� LQIUDVWUXFWXUH� DQG�RU� SODQV� IRU� LPPHGLDWH�
H[WHQVLRQV���,W�LV�WKH�LQWHQW�RI�WKLV�&RPSUHKHQVLYH�3ODQ�WR�HQVXUH�WKDW�WKH�86$�ERXQGDULHV�GR�QRW�
FRQIOLFW�ZLWK�WKH�6HUYLFH�$UHDV�DJUHHG�WR�E\�WKH�*UHDWHU�/RZQGHV�JRYHUQLQJ�ERGLHV��ZLWKLQ�WKH�
6HUYLFH�'HOLYHU\�6WUDWHJ\���:LWK�WKDW�LQ�PLQG��WKH�86$�VKRXOG�EH�XSGDWHG�RQ�D�UHJXODU�EDVLV�WR�
UHIOHFW�WKH�JURZWK�RI�HDFK�FRPPXQLW\¶V�XWLOLW\�V\VWHPV�LQ�DGGLWLRQ�WR�DQ\�WLPH�WKH�6HUYLFH�$UHDV�
IRU�HDFK�ORFDO�JRYHUQPHQW�DUH�DPHQGHG����
�
0RRG\�$FWLYLW\�=RQH��0$=��
�

7KH�0RRG\� $FWLYLW\� =RQH� �0$=�� UHIOHFWV� WKH� DUHD� VXUURXQGLQJ�0RRG\� $LU� )RUFH� %DVH�
�0$)%��ORFDWHG�LQ�WKH�QRUWKHDVWHUQ�SRUWLRQ�RI�WKH�&RXQW\��7KH�0$=�LQFOXGHV�WKH�&OHDU�=RQH��WKH�
$FFLGHQW�3RWHQWLDO�=RQHV��DQG�WKH�DUHDV�RI�KLJKHU�QRLVH�GHFLEHOV�IURP�%DVH�DFWLYLWLHV��DV�LGHQWLILHG�
E\�WKH�%DVH���5HFRJQL]LQJ�WKH�YDOXH�RI�0$)%�WR�WKH�FRPPXQLW\��WKH�0$=�VHUYHV�WR�SURWHFW�WKH�
%DVH�IURP�LQFRPSDWLEOH�XVHV��ZKLFK�FRXOG�LQKLELW�WKH�%DVH¶V�PLVVLRQ���
�

,Q� DGGLWLRQ� WR� SURWHFWLQJ� WKH� %DVH� LQ� IXWXUH� JURZWK� DQG� GHYHORSPHQW� SODQV�� /RZQGHV�
&RXQW\�UHFHQWO\�DGRSWHG�WKUHH�DGGLWLRQDO�]RQLQJ�GLVWULFWV�WR�UHJXODWH�XVHV�DURXQG�DQG�DGMDFHQW�WR�
WKH�%DVH���7KHVH�GLVWULFWV�ZHUH�GHYHORSHG�LQ�FRQMXQFWLRQ�ZLWK�SODQQHUV�DW�WKH�%DVH�WR�HQVXUH�WKHLU�
KLJKHVW� FRPSDWLELOLW\�� � � $GGLWLRQDOO\�� 0$)%� SHUVRQQHO� ZLOO� EH� LQFOXGHG� LQ� DOO� JURZWK� DQG�
GHYHORSPHQW� GHFLVLRQV� IRU� SURSHUWLHV� ORFDWHG� ZLWKLQ� WKH� 0$=�� $V� JURZWK� DQG� GHYHORSPHQW�
FRQWLQXHV� WR�RFFXU� LQ�RXU� UDSLGO\�JURZLQJ�FRPPXQLW\�� WKH�HQIRUFHPHQW�RI� WKH�0$=�ZLOO�HQVXUH�
0$)%�UHPDLQV�D�YLDEOH�HFRQRPLF�HQJLQH�IRU�RXU�FRPPXQLW\����


